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Answers

Ex. 7

1. 6

2. 3

3. 3

4. 5

5. 2

6. 5

7. 9

8. 10

9. 8

10. 2

11. 4

12. 6

13. 2

14. 2

15. 5

16. 6

17. 7

18. 8

19. 5

20. 6

Determine the best answer for the following questions.

Ex) 4 times      7       is as close to 30 as you can get, without going over. 4×7=28

1) 3 times      6       is as close to 19 as you can get, without going over. 3×6=18

2) 8 times      3       is as close to 28 as you can get, without going over. 8×3=24

3) 2 times      3       is as close to 7 as you can get, without going over. 2×3=6

4) 7 times      5       is as close to 39 as you can get, without going over. 7×5=35

5) 10 times      2       is as close to 25 as you can get, without going over. 10×2=20

6) 10 times      5       is as close to 59 as you can get, without going over. 10×5=50

7) 9 times      9       is as close to 88 as you can get, without going over. 9×9=81

8) 8 times      10      is as close to 84 as you can get, without going over. 8×10=80

9) 6 times      8       is as close to 51 as you can get, without going over. 6×8=48

10) 8 times      2       is as close to 20 as you can get, without going over. 8×2=16

11) 2 times      4       is as close to 9 as you can get, without going over. 2×4=8

12) 2 times      6       is as close to 13 as you can get, without going over. 2×6=12

13) 6 times      2       is as close to 15 as you can get, without going over. 6×2=12

14) 4 times      2       is as close to 9 as you can get, without going over. 4×2=8

15) 3 times      5       is as close to 16 as you can get, without going over. 3×5=15

16) 10 times      6       is as close to 63 as you can get, without going over. 10×6=60

17) 4 times      7       is as close to 31 as you can get, without going over. 4×7=28

18) 7 times      8       is as close to 59 as you can get, without going over. 7×8=56

19) 6 times      5       is as close to 34 as you can get, without going over. 6×5=30

20) 4 times      6       is as close to 27 as you can get, without going over. 4×6=24
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